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Problem I
=

• C
,
PAC by 9-list only , Li

• En PAC by 712, t only , Lz

Show e ,-ez PAC byHirth,
+ only .

(
t fo- circa

i .
• P over A,B, C. D

• L , only
"looks

" at B
,
but

may
call all of

At

⇒ ech .) >> e .



Define R :
#

P, [A] = o

P,[ B) = PCB]

P, [c) = PCC] IZ

P, [D) = PEDI IZ

Z -- I - P, EA?

Then P, is indistinguishable
from P by L , ,d P, is
a
"legal

" distribution fo-

C, C- e so E, Chi) E E
T

Wrt P,



Similar for Pz , ca, ha

⇒ Enchase E

Then show
C. Cha), Ezlhz) E E

⇒ Eth ,nhs) EE .



Problem 2
=

is

• Can still run L , on P,
-0 h

,

• Now force error of h ,

on Bsc, D < a Ymz
Simulation of Lz :
-

- draw LX,y>
- P

- LX,t>⇒ gone
to Lu

- Lx,-7dL ,#t ⇒
La

--

all ma C- A W -
h
-p .



Problem 5
-

X
,
XIXz v 'X,XzX, v >Xzxz

=

X.XIX, v
'

y , yayzu
'Zit,

where Yi
-

-Xi ,Zi=X;

n M¥
6 to →

son tho ITE ME
-
run L for

read once,

convert h back to Xi



Problem 8
-

-

• Let L have running
time = a

b
fo-

constants a, b Z l

p
includes dependence

On n , Size
(c)

• Let P be uniform on S

• Run L with EL Ym⇒

size Ch)
could be

amb Z m X

Let 's force sizedDn Tm



Choose E S.t.

alk)
"
= Tm

(ye)b=ma
Ye --m

Az

[ =
AL → L- h
m

'126

Then shells )⇐ Tn
and

#mistakes E Em

=
AI
m

'126
'm = Azmi

- 1/23

ea-!



So final hypothesis :

h
,
2x,,yD. . . - Sxe, ye>
-

mistakes of

h on S

total size :

Mm + a>
MI- Yzb

Better : balance terms

size 1h ) = me

set
a('le)

's
=me

(4)
b
= once
a



Ye -- MAYI , e --Imelt
#errors=

AL . rn

molls
I - e lb

= arm

set = m
'

,
so ⇐ I-Clb

( (It 'b) = I

C.=LIt 'lb

'
"
size Ch ) u M¥6


